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Interest refers to -
An individual's preference for
engaging in one or more specific
activities related to others.

(B) Relatively enduring characteristics
of a person that make her or him
distinct from others.

(C) Anindividual's underlying potential
for acquiring skills.

(D) The global capacity to understand
the world, think rationally and use
the available resources effectively
when faced with challenges.

Which of the following methods involves
seeking information from a person on a
one-to-one basis?

Case study
(B) Self - report
(C) Interview
(D) Observation

Which of the following statements is

not correct about development?

(A) Development is lifelong, i.e., it
takes place across all age groups
starting from conception to old
age.

(B) Development is influenced by
historical conditions.

()Y~ Developmentis uni-dimensional.
(D) Development is highly plastic.

Development of symbolic thought an_d
establishment of object permanence IS
visible in which of the following stages
of cognitive development according to
Piaget?
(A) Sensori motor

Preoperational
(C) Concrete operational
(D) Formal operational

P.T.O.
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= > at !h 3
of life that begins a ,
The Ef)af?jjberty, when sexual matuyrit,
zrr'lstie ability to reproduce is attaineg
is commonly known as -
(A) Childhood
(B) Infancy
(C)r Adulthood
) Adolescence

Which of the following statements i
correct about adolescence?

(A) Imaginary audience is adolescents’
belief that others are g3g
preoccupied with them as they
are about themselves.

Adolescents' sense of uniqueness
makes them think that no one

understands them or their
feelings.

(B)

(©)

40)

Anorexia nervosa isa-
sleeping disorder
(B) mental disorder
(C) eating disorder
(D)  physical disorder

Personal fables are often part of
adolescent diaries.
All of the above,

djusting to bright light
Xposure to dim light is called -
’ Regeneration

(B) Light adaptation
(C) Dark adaptation
(D) Saturation

Which of the foll
correct aboyt lea

(A)

Owing statements is
rning?

Leamning jg any relatively permanent
change in behavioyr

(B) Learnin
(C)

Ni:)

All of the above.
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10. Which of the following is not a
characteristic  feature of formal

assessment?
) Varies from case to case

(B) Objective :

(C) Standardized
(D) Organised
11. The two-factor theory of intelligence
was P.!-gposed by -
(A " Howard Gardner

(B), Robert Sternberg
(é
(D

Charles Spearman
Lev Vyogotsky
12. Response, organization and characterization
are included in which domain of
educational objectives?
(A) Cognitive domain
/QB‘)/‘ Affective domain
(C) Psychomotor domain
(D) None of these

13. Which of the following is not a
technique of motivation?
(A) Reward and Punishment
(B) Praise and reproof

_&y"Novelty
_B) Recall

14. Factorinfluencing emotional development
in children is -
(A) Health and Physical development
(B) Family atmosphere and relationship
(C) Neighbourhood, community and
society
All of the above

15. Type R-conditioning is known as -
(A) Classical conditioning
/ﬁ’ Operant conditioning
(C) Connectionism
(D) Experiential Learning

P.T.O.
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(ii)
(iii)

(A)
(B)
©
(D)
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16.

17.

18.

19

20.
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Self - actualization needs are relateq
to -
(A)
(B)
(®)

Theory of insightful learning
Field Theory
Information Processing Theory

learning

Sensory memory is also known as -
y \ Immediate Memory

() Short-Term Memory

(C) Long - Term Memory

(D) None of these

Which of the statements are true about
creativity and intelligence?
(i)  The relationship between creativity
and intelligence is positive.
Intelligence does not ensure
creativity,
Creativity tests involve divergent
thinking whereas intelligence tests
involve convergent thinking.

(i) and (ii)
(B) (i) and (iii)
(9

(ii) and (iii)
..CB)/(i), (it) and (iii)

The leve| of consciousness which is

considered as the reservoir of instinctive
or animal drives js —

(A) Unconscious
,(«B’(-Preconscious

(C) Conscioys

(D) None of these

(ii)

(iii)

(A)

The kind of defence mechanism in which

anxiety Provoking behaviours or
thoughts are totally dismis
unconscious jg —

(A) Denial

(B), Repression
Projection
Rationalisation

sed by the

(D)

Maslow's Humanistic Theory of

‘
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who talked about identity crisis in his
theory of personality?
) Alfred Adler
(B) Sigmund Freud
' (C) Erik Erikson
(D) None of these

21.

22. 'Self' refers to -
(A) those attributes of a person that

make her/him different from

others.
(B) those aspects of a person that
link her/him to a social or cultural

group or are derived from it.

/L(Z)/”the totality of an individual's
conscious experiences, ideas,

thoughts and feelings with regard
to herself or himself.
(D) None of these

23.  Which of the following is a characteristic

of personality?

(A) It has both physical and
psychological components.

(B) Its expression in terms of
behaviour is fairly unique in a given
individual.

(C) Its main features do not easily
change with time.

»em/ All of the above.

24. The pioneer of 'trait approach of
personality’' is -
(A) Raymond Cattell
Gordon Allport
(C) H.J. Eysenck
(D) Sigmund Freud

25. The theory of observational learning was
given by -
_kAY Pavlov
(B) Skinner
(C) Bandura
(D) None of these

P.T.O.
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26. A girl child is working very hard for her

27.

28,

2O.

30.

e

examination. Her behaviour is an

indicator of her -
(A) Sharp cognitive abilities
High achievement motivation
(C) Very Busy schedule
(D) Desire to impress her parents

"Rewards play a significant role in
learning", is the main characteristic of

which of the following approaches of

learmning?

(A) Behaviouristic
/(B) Cognitive

(C) Humanistic

(D) Scientific

‘Negative Reinforcement' means -
(A) Not presenting any stimulus.
(B)x Presenting an wunpleasant
. stimulus.

MPunishment.

(D) Terminating an unpleasant stimulus.

Programmed Learning is based on -

(A) Field theory

Operant conditioning
(C) Gestalt learning theory
(D) Classical conditioning

A mathematics teacher discusses some
problems in the classroom and then asks
the students to work out some problems
given in the book. Students are
practising the law of -

(A) Contiguity

(B) Reinforcement

(C)  Readiness

,CD']/ Exercise
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31. AR B B TR B B A Ty
fear 2
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Direction (Q. No. 31 to 35) : Read the
Passage given below and answer the
questions that follow by selecting the most
appropriate option,

It is difficult to reconcile the ideas of
different schools of thought on the question
of education. Some People maintain that
pupils at school should concentrate on a
narrow range of subjects which will benefit
them directly in their subsequent careers.
Others contend that they should study a wide
range of subjects so that they have not only
the specialised knowledge necessary for thejr
chosen careers but also a sound general
knowledge about the world they will have to
work and live in. Supporters of the first theory
state that the greatest contributions to
Civilisations are made by those who are most
expert in their trade or profession. Those on
the other side say that unless they have a
broad general education; the experts will be
too narrow in their outlook to have Sympathy
with their fellows or a proper sense of

responsibility towards humanity as a whole.

31. Broad general knowledge is necessary
because -
(A) without it no one would get 3 job.
\/(B) it broadens one's outlook.
(C) it teaches us about different
things.
specialisation is complete Withoyt
it.

(D)

SET-A
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32.

3.

34.

'Schools of thought' can be explained as-

(A)
(B)

(©

Ve

groups of people who are schooled
to think.

groups of people whose job is to
think.

groups of people who study in a
particular school thoughtfully.
groups of people having the same
ideas but with different perception

on a particular subject.

Supporters of the first theory say that-

»
(8)
©

(D)

experts have done nothing to
save mankind.

éxperts have contributed most to
Progress in the modern world.
People with genera| knowledge are
more useful than experts,

people with general knowledge

have contributed tg Civilisation.

The idea of the first school of thought
in the Passage is that-

(A)
(B)

(©)

g

Students should concentrate on
Studies,

Students should not undertake
any specialised work,

students shouylq study all the
Subjects they want tq.
Students should Study a few
Subjects that Will help them in

their profession.



35, According to the second school of

thought, education will not be very
effective if pupils -

W

do not have a wide general

education.

(B) have nothing but general
knowledge.

(C) have inadequate knowledge of
their own work.

(D) ignore the study of fine arts.

Direction (Q. No. 36 to 40) : Read the
poem given below and answer the
questions that follow by selecting the most
appropriate option -

Half a league, half a league,

Half a league onward,

All in the valley of Death

Rode the six hundred.

"Forward, the Light Brigade!
Charge for the guns!" he said.
Into the valley of Death

Rode the six hundred.

"Forward, the Light Brigade!"
Was there a man dismay'd?
Not tho' the soldier knew

Some one had blunder'd.

Theirs not to make reply;

Theirs not to reason Why,

Theirs but to do and die.

Into the valley of Death

Rode the six hundred.
SET-A
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36. The expression 'the valley of death’
refers to -

(A) the place where the dead soldiers
are lying buried.
(B) theimpending death of soldiers.

Qﬁ the house of death.
a nightmarish place.
37. Which of the following adjectives does

not apply to the soldiers?
(A) courageous

(B) disciplined
(C) patriotic
D) impractical

38. Name the figure of speech used in 'the
Valley of Death'-
_{A) Metaphor
(B) Simile
Q) Synecdoche
(D) Metonymy
39. Which of the following statements is
not true?
The military discipline teaches the
soldiers —
/)~ to do and die.
(B) toobey their commander's order.
(C) toact tactfully in the battlefield.

(D) not to ask any question.
40. 1In the first stanza of the poem, the
soldiers are —-
(A) talking to each other about their
personal problems.
(B) Waiting for their commander's
order.
(G) Thinking about the result of the
war.
(D) seen riding fast to the enemy

territory.
P.T.O.




Direction (Q. No. 41 ) : In the following
question one word, a numbered one, is
followed by four words. Choose the word that
is most nearly the same in meaning

(synonym) of the numbered word.

41. Camouflage
Disguise
(B) Uncover
(C) Demonstrate
() Fabric

Direction (Q. No. 42) : In the following
question one word, a numbered one, is
followed by four words. Choose the word that

is most nearly opposite in meaning (Antonym)

of the numbered word.,

42. Conspicuous
(A) Indifferent
/?é) Harmless
(C) Insignificant
(D) Unknown

Direction (Q. No. 43) : Fill in the blank with

the help of suitable preposition.

43. Man can not live bread alone,
(A) except
A8)  with
(C) by
(D) at
SET-A
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Direction (Q. No. 44) : In the following
question, out of the four alternatives, choose
the one which can be best substituted fo,
the sentence below.

One who accepts pleasure and pain
equally .

(A)Y Thespian

(B) Sadist

_9C) Humanitan‘an

(D) Stoic

44,

Direction (Q. No. 45 to 46) : In each of the
following questions, groups of four words are
given. In each group, one word is correctly
spelt. Find the correctly spelt word.

45. (A) measureable
manageable
(C) marriagable
(D) manoevrable
46. (A) impromptue
(B) illustrious
(C) illusery
D) impetous

Direction (Q. No. 47 to 48) : In each of the
following Questions, four alternatives are
given for the idiom underlined in the
sentence. Choose the alternative which best

€xpresses the meaning of the idiom as your
answer.

47. Ramis very Calculative and always has

an axe to grind.
(A)
AB)
(C)
(D)

has no result

works for both sides
has a private agenda
fails to arouse interest



48. The project is carried over to this year,

and we need to keep the ball rolling.

(A) to continue the work
!

(B) moreinformation

(C) todo bette;

(D) new strategies,

Direction (Q. No. 49) : In the following
question, a sentence has been given in

Active voice. Out of the four alternatives
suggested, select the one which best

expresses the same sentence in Passive
voice,

49. Who is singing such a sweet song?
(A) By whom is such a sweet song

sung?
(B)~By whom is such a sweet song
being sung?
(C) By whom is such a sweet song
sang?
(D) By whom has such a sweet song
sung?

Direction (Q. No. 50) : In the following
question, a sentence is given to be filled in

with an appropriate conjunction. Choose the
correct alternative out of the four.

50. Hardly had he left
came,

J('A) then
.(B) than

his brother

(C) when

(D) that

SET-A
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Direction (Q. No. 51) : In the question
below, a sentence has been given in Direct
speech. Out of the four alternatives
suggested, select the one which best
expresses the same sentence in Indirect

speech.

51. I said to my friend, "Can you pick me

up after work?"

(A) I asked my friend if he can pick
me up after work.

}B) I asked my friend if he could pick
me up after work.

(C) I told my friend to pick me up
after work.

(D) 1 told my friend if he could pick

him up after work.

Direction (Q. No. 52) : Complete the
following sentence by selecting the appropriate

modal auxiliary out of the given alternatives.

52. Had our flights been on time, W€

reached by now.

(A) will have
(B) would have
(C) have

(BT shall have

pP.T.O.



Direction (Q. No. 53 to 54) : Identify the

figure of speech in the given sentences.

53. 'Let not Ambition mock their useful toil'
(A) Simile
) Oxymoron
(C) Personification
(D) Metaphor
54. "The murmurous haunt of flies on summer
eves"
(A) Simile
}BG Metaphor
(C) Onomatopoeia
(D) Oxymoron
55

What are the productive skills of
language?
e

_K) listening, speaking

(B) listening, reading
(C) reading, writing
(D) speaking, writing

56. Role play should be an integral part of
every language classroom because -

(A)

jﬁ!]‘

it is very useful to maintain
silence in the classroom.
it enables students to engage in

meaningful talk.

(C) it enables students to memorize
the story.
(D) it enables girls and boys to
interact freely.
SET-A
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Which one is the theory based on the
habit formation that says that human

a7.

or any creature gives response due to

stimulus or humans learn due to

stimulus?

(A) Classical conditioning

(B)
)  Stimulus conditioning

(D) None of these

Operant conditioning

58. The scientific study of articulation,
transmission and reception of speech

sounds is called -

(A) Linguistics
jB) Morphology
(C) Phonetics

(D) Syntax

59. According to the National Curriculum

Framework 2005, English in India is

in a multilingual country.

(A) aforeign language
/L&)’ a global language

(C) an associate language

(D) afirst language

60. The linguist, Noam Chomsky maintains

that every child has an innate Language

Acquisition Device (LAD) that he/she
uses for -

(A)
_®)
C(8)

(D)

Semantics
Phonetics
Universal Grammar

Complex words
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Direction (Q. No. 61 to 65) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate answer,

The last great war, which nearly shook
the foundations of the modern world, had
little impact on Indian Literature beyond
aggravating the popular revulsion against
violence and adding to the growing
disillusionment with the 'humane pretensions'
of the Western World. This was eloquently
voiced in Tagore’s later poems and his last
testament, Crisis in Civilisation. The Indian
Intelligentsia was in a state of moral dilemma.
On the one hand, it could not help
sympathising with England’s dogged courage
in the hour of peril, with the Russians fighting
with their backs to the wall against the
ruthless Nazi hordes, and with China groaning
under the heel of Japanese militarism; on
the other hand, their own country was
practically under military occupation of their
own soil, and an Indian army under Subhas
Bose was trying from the opposite camp to
liberate their country, No creative impulse
could issue from such confusion of loyalties.
One would imagine that the achievement of
Indian Independence in 1947, which came
in the wake of the Allies’ victory and was
followed by the collapse of colonialism in the
neighbouring Countries of South-East Asia,
would have released an upsurge of creative
energy. No doubt it did, but unfortunately it
was soon submerged in the great agony of
Partition, with its inhuman slaughter of the
innocents and the uprooting of millions of
people from their homeland followed by the
martyrdom of Mahatma Gandhi.
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61.

62.

63.

What was the impact of the last great

war on Indian Literature?

(A)
(B)

()

(D)

It had no impact.

It aggravated popular revulsion
against violence.

It shook the foundations of
literature.

It offered eloquent support to the
western world.

What did Tagore articulate in his last
testament?

(A)
(B)

(C)
(©)

Offered support to Subhas Bose.
Exposed the humane pretensions
of the Western World.

Expressed loyalty to England.

Encouraged the'liberation of
countries.

What was the stance of Indian
Intelligentsia during the period of great

war?
(A)
(8)
(©)

()

Indifference to Russia's plight.
They favoured Japanese militarism.
They prompted creativity out of
confused loyalties.

They expressed sympathy for
England's dogged courage.

Find in the passage words that mean

(i)

(i)
(A)
(B)
(©)
(D)

Disgust

Disappointment

Upsurge, liberate
Violence, aggravating
Revulsion, Disillusionment

Peril, Dogged

P.T.O.



65.

66.

67.

68.

Which of the following statements is
true -

(A)

Indian Army under the Nazis were
trying to liberate the country.
(B)

Indian Army under Subhas Bose
was trying to liberate the country.
(©)

Indian Army under the Russians

was trying to liberate the country.

(D) Indian Army under the Japanese

was trying to liberate the country.

According to language teaching experts
the early education of a child should
bein -

(A)
(B)
(©)
(D)

The first language
Second language
Foreign language
Multi language

In continuous comprehensive
evaluation, the teacher tries to -

(A) Find out to what extent the learming
objectives are achieved.

Make the learner assess the
teacher.

Identify the special needs of the
learners in a group.

Make the learner by cramming
learmning.

(B)
©)

(D)

The alphabetic method, the phonic
method, the word method and the
sentence method are associated with-
(A)
(B)
©)
(D)

Listening
Speaking
Reading
Writing

SET-A
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69.

70.

XXI-1

Effective learning takes place when the
learners are -

(A) Passive

(B) Quiet

(C) Interactive

(D) Good at preparing for the

examination

In order to assess the all-round
development of a learner, a teacher has
to take the help of -

(A) Unit-end evaluation

(B) Term-end evaluation

(C) Continuous and comprehensive
evaluation

(D) Month-end evaluation

Direction (Q. No. 71) : Rearrange the
following words and phrases to form a

meaningful sentence. Choose the correct
atternative sentence.

71,

services will/tourism in/air taxi/the
state/ boost

(A) Tourism in the state services will
boost air taxi.

(B) Air taxi boost services will
tourism in the state.

(C) Air taxi services will boost
tourism in the state.

(D) Services will boost tourism in the

state air taxi.

Direction (Q. No. 72) : Choose the most
suitable option that describes the meaning
of the following underlined idiom and phrase.

72,

The exam went down in flames. I should

= UWIl I lames,

have studied well.

(A) exam paper got burnt
(B) passed with goodmarks
(C) failed spectacularly

(D) exam hall caught fire



Direction (Q. No. 73) : In the following
sentence choose the antonym to the
underlined word.
73. She was determined not to dissipate
her energies.
(A) Utilize
(B) Conserve
(C) Manage
(D) Organise

Direction (Q. No. 74 ) : In the following
sentence choose the synonym to the
underlined word.
74. She requested him not to abandon her.
(A) Try
(B) Join
(C) Keepup
(D) Forsake

Direction (Q. No. 75 - 76) : Select the
incorrectly spelt word from the following.
75. (A) Potassium
- (B) Possibility
(C) Parasology
(D) Preamble

76. (A) Pursue
(B) Persuit
(C) Persuade
(D) Peruse

Direction (Q. No. 77) : Select the correct

atternative which can be substituted for the
sentence below,

77. A person who talks in sleep is called-
(A) Philatelist
(B) Somnambulist
(C) Somniloquist
(D) Oneirocritic

SET-A
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Direction (Q. No. 78 to 79) : Choose the
correct tense.
78. Rohan
read the review.
(A) watches
(B) have watched

(C) had watched
(D) was watching

the movie before he

79. By the next month, we shall
the project.
(A) has completed
(B) completing
(C) completed
(D) have completed

Direction (Q. No. 80 - 81) : Choose the
most suitable auxiliary or modal verb out of
the given alternatives.

80. In the Middle Ages, people
travel by plane.
(A) could
(B) had to
(C) can't
(D) couldn't
81. Kateisill, so she
and drink a lot of water.
(A) need
(B) can't
(C) has to
(D) doesn't have to

stay in bed

Direction (Q. No. 82) : Select the word
nearest in meaning to the underlined part.
82. The maid servant left the police

station contrite.

(A) penitent

(B) sore

(C) angry

(D) remorseless

P.T.O.



Direction (Q. No. 83) : Select the option in
which punctuation mark is appropriately used.

83. (A) It is mentioned in the notice, all
of us should read it.

(B) It is mentioned in the notice! all
of us should read it.

(C) It is mentioned in the notice? all
of us should read it.

(D) It is mentioned in the notice; all

of us should read it.

Direction (Q. No. 84) : Complete the
following sentence using appropriate phrase
preposition from the given options.

84. How can they be going out? Jane has
nothing Peter.
(A) incommon
(B) incommon to
(C) incommon of
(D) in common with
85. Which of the following methods is based

on the principle 'From example to
generalisation'?

(A) Incidental Method

(B) Remedial Teaching Method

(C) Deductive Method

(D) Inductive Method

Direction (Q. No. 86 to 90) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

Stammering is a habit disorder linked
with lack of self-confidence. Basically for a
child to understand a language, there are
four stages. The first is learning to
understand the spoken language and the
second is speaking. Both of these usually
develop around the age of two.

The third stage is speaking complex
sentences, which develops at around 3rg and
the fourth is when the child recognises the
written alphabet. In 80% of children whjje
the 3rd and 4th stages are at play, the first
two get disturbed because something ney is

SET-A
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getting incorporated in the mind.

This is absolutely normal. But what
over-cautious mothers do is fret a lot and
the child develops a fear which later
manifests itself as stammering. Infact, most
text books on stammering state in bold that
'Had there not been any over-cautious
mothers, hardly anyone would have suffered
from stammering'. Fluency can be incorporated
in the speech of such patients through
hypnosis.

86. Stammering is caused because of -
(A) Physical disorder

(B) Hindered growth

(C) Lack of self-confidence

(D) Lack of understanding

87. The second stage of a child's
understanding the language is -

(A) Speaking

(B) Writing

(C) Listening

(D) Reading

88. are basically the reason for
developing a fear in the child's mind.
(A) Parents

(B) Over-cautious mothers

(C) Fathers

(D) Uncles

89. Fluency in such patients can be

incorporated in the speech of such
patients through -

(A) hypnosis
(B) slap
(C) punishment
(D) symbiosis
90. By thetime the child becomes 2 years
old he/she can -
(A) speak complex sentences.
(B) only understand spoken language.
(C) understand and speak simple
language.

(D) write the alphabets.
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A 8nm -
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() 172
(D) 0
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(C) 24%

(D) 24.2%
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(A) 8
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(c) 7

(D) 9
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91.

92.

952

94.

If 2160 = 22 x 3® x 5F, then the va|ye
of 32 x 2°® x 5 will be -

81/40

37/39

1/2

0

A)
(B)
©
(D)

If third Friday is on 16'™ of month then
what will be the date of fourth

Tuesday of that month?
(A)
(B)

27
29

o

(D) 22

If the length and breadth of a room is
10% and 20%
respectively, while height is increased

decreased by

by 5%, then what percentage will be

changes in the volume of the room?
JA)/H 24.4%

(B) 24.6%
(C) 24%
(D) 24.2%

If number 5132416p is divisible by 3,

then which digit will come in place of
?

p?
v
(B)
(©)
(D)

O N o0 o



=

95. JFZ;;:/;**\E?JTTT? & "7 AT -
(A) 14
(B) 12
(C) 16

(D) 13

96, & 3% @I 5 A W & W A & ® -
(A) 1
(B) 2
(C) 3

(D) 4

97. Tpay gvel # JpUst B HEAT, 10 &= &

Rrfel @Y wET B TR & -
(A) 290
() 3HR
(C) 49w
(D) 59w
98. dfe 9 x 7 6
— X 6 y 9
3y v 7
?hxai‘rzyasuﬁ%—

(A) x=9;y=3
B x=3;y=9

(D) x=4;y=8

SET-A

95.

96.

97.

98.

XXI-1
The value of /248 + JSZ + 108+ J1296

will be -
(A) 14

(B)
16
(D) 13

When the number 39 js divided by 5,
then the remainder is -
(A) 1
(B) 2
3
(D) 4

In how many hours, the number of
seconds is equal to the number of
minutes in 10 days -

(A) 2 hours

(B) 3 hours

Mhours

(D) 5 hours

If 9 x 7 6
—x 6 'y 9

3 y y 7

then the value of x and y are —
(A) x=9;y=3

B) x=3;,y=9

ég/{=ay=3

(D) x=4;y=8

P.T.O.
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f(7+26)is-
9. (7+246) PN TTE - 9. The square root of (
6+ 1
(A) 6+ 1 (") Vo
(B) 3+2 (B) V3+2
© VZ+15 + gef 245
(D) 2+ 45 (D) 2+45
100. UP U7 FT AT 64 IF9.° & v & ol 100. The volume of a cube is 64 cm?. The
ysSKa et BN - total surface area of the cube will be-
(A) 12 I (A) 12 cm?
(B) 24 32 /B)/ 24 cm?
(C) 48 Juf.2 (C) 48cm?
(D) 96 A2 (D) 96 cm?
101. OF wHDIOT st 8 &1 <t - 101. A right angled triangle cannot be -
(A) TS FHEg ﬁga ) Anequilateral triangle
(B) ©H '\‘Tﬂﬁﬁlg ﬁ.ﬁa (B) Anisosceles triangle
C) A scalene triangle
(C) e fwwarg ger ( 9
(D) A polygon
(D) & agyH Y
102. dfg 3T el gay EE) T‘f it G @ - 102. The greatest five digit perfect square
(A) 99999 numberis -
(A) 99999
B) 99976
5 (B) 99976
(€) 99856 (C) 99856
(D) 99764 D) 99764
1 _[31_[5 ( 3,1_4) 103
= =la 2 _ _ . The val -
103, 5 | 2 |6 5 10 15][]35]’“ ue of
2T - 5.1_{3}__|’_5__'§+i_4\“ ‘
- S5 2 |6 L5 10 ‘1‘§J _, will
(A) 1_0 be )
21
17 :
®B) 1o W 10
17
8 ® %
© 1o 8
) 1o “ w0
10

SET-A [36]



104. 3 T 200 & 4 5+ et wwad 7 @
fysnforar ghme

(A) 27
(B) 28
(©) 29
(D) 30
105. Al A.99. (a, 8) = 4 3R @.9. (a, 8) = 24
A d'aTIAAE -
(A) 14
(B) 8
(C) 10
(D) 12

80 W, N AT US JAIBR UId B 3
AR B BT UF DR Wl Bl Ha

g | A & da= BT ATGA © -
6400 #I°

106.

(A)
(B)
©
(D)

3200 A
1600 #?
12800 #Y?

a8 Riftr B Jereoi & g1 e g
& T B A 8§ -

(A) frme fafer

B) amw fafer

(C) fawerwor fafer

(D) eeror fafer

107.

SET.. A

[37]

XXI-1
104. How many natural numbers lie between
3 and 200 which are divisible by 7 ?
S
(B) 28
(C) 29
(D) 30

105. If HCF (a, 8) = 4 and LCM (a, 8) = 24,
then the value of 'a' is -
(A)
(B) 8
(C) 10
(D

14

12

106. In a circular park of diameter 80m, there

is a square shaped playground of

maximum area. The area of the
playground is -
(A) 6400 m?
(B) 3200 m?

L1600 m?

(D) 12800 m?

107. The method in which new rules are
established by examples is -

(A) Deductive Method

_ (B} Tnductive Method

(C) Analytical Method

(D) Synthesis Method

P.T.O.



108. T &1 Wiy o @ -
(A) arsfora
(B) 3|
(C) amforg
(D) Sfaw Tforg

109. TRIHG wR R TG &7 F4T Heag 22

(A) wiepfos
(B) wmIfSi®
(C) enfiye
(D) "Hfg®

110. 99 & 3R - " Tqegar o1 ador

1" 7% B W $ 5w qra W Gt

&?

(A) wieplis Jea

(B) wHIfSi® e

(©) WWW

(D) 399 9§ P &l

111. 3 x:y = 1:2 &, A (8x+9y) : (8x#2y)
& HE T Enme

(A) 22:29

(B) 29:22

(C) 13:6

(D) 6:13

112. {5 30 . Froar aem 45 ¥, 39 i
@1 frgenae 5 F1. B arel et f uRafifg
foar | el B W= S S -

(A) 81

(B) 41

(C) 80

(D) 40

SET-A
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108. The oldest branch of Mathematics is -
(A) Algebra
(B) Arithmetic
(C) Geometry
\g))/ Astrology Math

109. What is the importance of Mathematics
at Primary level?
(A) Cultural
(B) Social
(C) Religious
Mental

110. According to Hogben - "Mathematics is
the mirror of Civilization." This
statement corresponds to which value
of Mathematics ?

(A) Cultural Value
Social Value

(C) Disciplinary Value

(D) None of these

1. If x:y = 1:2, then the value of

(8x+9y) : (8x+2y) will be -
(A) 22:29

(B) 29:22
\m3:6

(D) 6:13

112, If 5 metallic cone of radius 30 cm and

height 45 cm is melted and recast into

Metallic spheres of radius 5 cm, find
the number of Spheres -

A 81
(B) 41
(©) 80
(D) 40



113, foodh & @ P 3R Q Rreax 12 RAi 1, Q
3R R freax 15 1o § qenr R 31k p firerax
20 Al ¥ T IR wHa & A p v
frm &A1 ¥ oW T e
(A) 10
(B) 20
(C) 30
(D) 60

114, 40 TRl & ®en & siva 3 86 &
afe 5 wafow 3 &1 & I, o 3
35 1 DU A e 8| waraw 5 faenfat &
a3 T Do -

(A) 92
(B) 96
(C) 93
(D) 97

115, fe wR & MO TS & T J&i
o & 22
(A) TeorEmEd sRieoT S 3HE
(B) R B 3
(C) HHerdIBRUT § ol
(D) T A P T

116, Frafefad & & o= & &t a3
R A & fagr w anaRa &2

[39]

XXI-1
113. A work can be completed by P and Q in
12 days, Q and Rin 15 days & R and P
in 20 days. In how many days P alone
can finish the work?

(A) 10

(B) 20

30

(D) 60

114. The average marks obtained by 40
students of a class is 86. If the 5 highest
marks are removed, the average
reduces by one mark. Find the average
marks of top 5 students -

(A) 92
(B) 96
93

(D) 97

115. What is the major problem found in

primary level teacher of mathematics?
(A)
AB)
(©)
(D)

Lack of pedagogical training
Lack of preparation
Busyness in record maintenance

None of these

116. Which of the following method is based

on principles of "Watch, listen and
learn"?

Maborator\; Method

(B) Demonstration Method
(C) Lecture Method
(D) Research Method

P.T.O.



117. O x+y=2a &, x—?; +
&_
(A) 2
(B) 2a?
(C) o
(D) 2a

a=
y-a =

118. v fhsreng & 400 U9 & SRar @ dfan

5:3 & IUid # §| TSIIR, I 3 BN
5 : 6 # uRafia & & forw fesey o dfan
3R Frerm arfge?

(A) 50

(B) 150

(C) 550

(D) 300

119. U5 39 & 39 dUT R, TS T A 1 vy

R 7 1/3 B S 21 9@ R, 335 3i97
T &R, 90 H 1 35 W 1/2 2 5 &)

TR, 39 493 & 3191 91 =& 37 anwe
famm 82
(A) 10
(B) 18
(Cc) 7
(D) 16

120. ¥ oR v e amr @ 48 Ry gy

B 7 10 G F FAG IR oy &) 38y
q&aﬁsﬂéﬁaﬂaﬂﬁés%umaﬁn%
4 fba gfg @ arfge?

(A) 6 foper. /g

(B) 12 fapy. /e

(C) 15 foser. /M.

(D) 60 fopur./d.

SET-A
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117. If x+y=2a, then the value of

(A) 2
(B) .2a?

i o

(D) 2a

118. Zinc and Copper are in the ratio 5:3 in

400 gm. of an alloy. How much of

copper (in gms) should be added to make
the ratio 5:6?

(A) 50
\/eg)/ 150
(C) 550
(D) 300

119. If 1 is subtracted to both the
numerator and the denominator of a
fraction, it becomes 1/3. If 1 is added
to both the numerator and denominator
of that fraction, it becomes 1/2. Then
the sum of numerator and denominator

of t fraction is -
v(xjpafo

(B) 18
) 7

(D) 16

120. A car can finish a certain journey in 10

hours at speed of 48 km/h. In order to

cover the same distance in 8 hours,

the speed of the €ar must be increased

by -

(A) 6Km/h
(B) 12Km/h
(C) 15Km/h

\(%O Km/h
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€ valye oF

ratio 5:3 in

V- much of

led to make

oth the
ator of a
is added
ominator
‘2. Then
minator

y in 10
der to
hours,

eased

121.

122,

123.

124.

125.

126.

Environmental Studies XXI-1
TR &1 9a9 q2r TRt a7 & '__121. Largest Ecosystem of the world is -
(A) ST (A) Forest
(B) ®RI @1 #qH (B) Grass Land
(©) #a (C) Lake
(D) wmR /(Bj/' Ocean
WRAA BT gor TR A - 122. First National Park of India is -
(A) @r=1 (A) Kanha
(8) IRar (B) Periyar
() @e _AC) ' Corbett
() RISt AD) Rajaji
Tiiar § & aa@ @1 3uAnT §a=r ¥ =Y b 123. In villages, people use wood as fuel
A & T4 - because -

(A) 39 v et $e HFT ST 2
(B) TE IR ¥ Iucier & 3R Ty &
(C) ' yafaxor feddt

(D) TE I I M Ubs o )

e 3URE 3B GRI AT 5T Faball & -
(A) ot & fadr axd

(B) oI B dew

(C) IR &1 Aferp 3udnT

(D) Sig3t gR1 ifqaror

T @R AT I &S oY -
(A) 1986 ®
(B) 1988 ¥
(C) 1990 §
(D) 1983 ®

YfedefoTadr & Sgar audy s & -
(A) e &

(B) T i

€) &%

(D) & & g =

SET-A
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(A) itisconsidered to be an ideal fuel.

__(By—of its easy availability and low

cost.
(C) itis environment friendly.
(D) it catches fire easily.

124. Soil erosion can be prevented by -
(A) raising forests

__(B)/d-eforestation

(C) excessive use of fertilizer
(D) overgrazing by animals

125. Ganga Action Plan (G.A.P.) was
launched in -
(A) in1986
(B) 1M 1988
(C) in1990
(D) in1983

126. Intensity of radioactivity is measured

in-
A5 Decibel
Curie
{ Hertz

(D) None of these
pIT.OI



127. ARSREST g ST &
(A) Eeg #

(B) 1o #
(C) uzw () §

(D) &ier &
SFes A § A &

(A) & F FR=R 98 & e
(B) &3k

© T& @

(D) &&T @ €N egd

= 7 & B arg wewe T8
(A) X - foor

(B) co,, co g

(C) SPM o

(D) so,iw

oY e g & for) FRerd aRs &
(A) G&Rgoy
(B) MGl ga

(C) 3t T g
(D) €& ugus

?ﬁuwmw,qﬁ‘rwm
Auferal ST §, e aram F wghig
sﬂﬁaq@"f?—s’mamwg_
(A) TEXT A

(B) it H et ST it srpofregy
(C) ugm! arellg

(D) 3IWRIH H | BIE 7

ﬁ%ﬂ#@ﬁﬁﬂaﬁ%aﬁ,m@aﬁ
e foran, s BROT # -

(A)  UBTIRIZETOT

(B) arsreqsH

(C) sifezm SHam]

(D) va9 wotich

SET-A
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127. Mycorrhiza is present in -
(A) Cycas
(B) Rose

(C) Pinus (Chir)
Mur‘ansh
128. Effect of Tinnitus disease is -
(A) Persistent ringing sound in ear
(B) Low eye sight

Dry Skin
(D) Slow Heart Beat

129. Which of the following is/are not air
pollutant?
AT X-Ray
(B) CO,, COgas
(C) SPM particle
(D) SO, gas

130. Factor responsible for Little Ice Age is-
(A) Plantations
_(BY~Volcanic Dust
(C) Excessive Transport Vehicles
(D) Sound Pollutants

131. Raheem prepare 3 pond, fill water then
disperse fishes in it, but fishes are not
alive in pond. Its reason is -

(A) Deep Pond
ﬁ)/'Absence of dissolved oxygen in
water
(C) Cemented Pond
(D) None of aboye

132. Suresh produced mych production of
wheat without use of fertilizers in same
field, where peag were cultivated
earlier, Its reason is -

(A) Photosynthesis
(B) Transpiration
(C) Rhizobium Bacteria

DY Respiratory Quotignt



133. T D W F B e xRy
DR
Mﬁﬁﬁﬁﬂﬁ@a‘i@{“ﬁmaﬂm
1. a1 HISH U3 o) gy
2. ¥ 5 e 4
3. T U4 3D HRplepi
MV AR S
?E,':
(A) 109293 &
(B) 17Ud 3w |
(C) 2vd 39 &)
(D) 1,27Ud 39 &

134, 59 & F -1 B N F B B TwW
@ dd 8°?

(A) Tt

(B) &

(C) 3T+

(D) Tafees

IR # = A 9 59 yBR &1 g
oY 3t T S &2

(A) IUBICEHIT 99 FaeeR o

(B) 3IUBEH Ig-GeEER ad

(C) 3Iwrdfeaeia 79 yofurd &

(D) TS IUCaOd 3

UF wot % e B foe fage & @
wisar & ugell TROT HH-AT €2

(A) uRfefasa faee

(B) wmfeas faeo=

(©) = fads

(D) offge faeo=

Prefoiaa § ¥ P-ar paa dfad TR

R d & aR ¥ 9 8?2

(A) RS e s gai@ T& el

(8) & RN BT g sy @ Y

(C) R R T o o & g Y
s T &

() o & 5t o ot won AR PH
A1 3 @ )

135

136.

137.

SET-A
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133. Consider the following statements aboyt
the soil and select the correct answer
using the code given below -

1.  Soil is the basic medium for food
and timber.

2. Soilis an important resource.

3.  Allcommunities and their cultures
depend on soil.

Code :
(A) 1and 2 are correct.
(B) 1 and 3 are correct.

(C) £2 and 3 are correct.

\(9/1, 2 and 3 are correct,

Which one of the following is the
dominant element of the Earth's crust?
(A) Aluminium

(B) Iron

\X) Oxygen

Silicon

134.

135. Which of the following types of Forests
covers the largest area in India?
(A) Tropical Wet Evergreen Forests
.}%}' Tropical Semi-Evergreen Forests
) Tropical Moist Deciduous forests
(D) Dry Tropical Forests

136. Which is the first stage in the process
of a species becoming irreversibly
extinct?

(A)  Ecological extinction

WSS extinction
Local extinction

(D) Biological extinction

137. Which of the following statements is
true with regard to water on the global
scale?

_(A)Y—There s not enough water available
per capita.
(B)  We cannot reuse water.
(C) There is a lot of water and yet
there is scarcity.

The total amount of water in the

world is constantly decreasing in

quantity.

(D)

P.T.O.



139.

(A) diexr
(B) wad

(C) &@¥
(D) daiRar

aa 378 Uv-folt & saftd yuifad &
S & da o7 A T 87

()  wfeRen-dA @ e

(i) twel B &ffel

(iii) @ B B

(iv) 3THR™ & 3R

(i) 3R (ii)

(i) 3R (iv)

(i) 3R (iii)

(iii) 3R (iv)

140.

(A)
(B)
€
(D)

RIS FET T T ¥ S e 8-
(A) ard

(8) &d

(©) fosit

(D) #R=

141.

142, 3R & A5 B 3
a1l YGUT @7 TBR B~ TG By
(A) g T
(B) Sfer wgwor
(C) a1 yguur
(D) ¥R wgwor

SET-A
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139.

140.

141.

142,

&

(D)

XXI-1

the following fuels causes

Which one of
mental pollution?

minimum environ
(A) Diesel

Coal
Hydrogen
Kerosené

(@)
(D)

Which one of the following is an abiotic

component of the ecosystem -
Plants

Fungi

Humus

Bacteria

(A)
?)
<)

Excessive exposure of humans to
UV-rays results in -

(i) damage toimmune system

(i) damage to lungs

(iii)
(iv)

skin cancer
peptic ulcers

(A) (i) and (ii)
(B) (ii) and (iv)
;Z((i) and (iii)

(D) (iii) and (iv)

Teeth
(B) Heart
(C) Kidney
(D) Brain

;Llfride pollution mainly affects -

The type of pollution which is likely to
affect T_aj Mahal in Agra to a greater
extent is -
(A) airpollution

water Pollution

(C) soil pollution

(D) noise pollution,



y

143.%@1#%%%3%%@

® B a1 e 2, 3wy ¥ g

T8 & Tifee, T9ifte -

(A) U &H T & & By ¥

(B) 3 3fast garf & &N B #

(C) 3 STt vardf & &9 2y &)

(D) ¥ R-SfaFaola gerlf o 5=
B €1

fava &1 @EH ISt S A Gedl 3

Tipfd RATES BIF-T 82

(A) Sicl

(B) @4

(C) Uad

(D) I BT gHrT

wfaRoly sreaaa W Steifores wwoT &1 g6
JReg & -

(A) @l D FHail B AR DAl

(B) W@ & o1 Ucael 3rgHa

(C) SHTSNBRUT BT qgral &1

(D) €I Gl S T

144.

145.

146. gafazor fRrem & o @ -
(A) FenPrl R sifiRes st STeidY R
cecifieill
(B) UEROT BT GHUAN < S ST
(C) frenfrdl &1 ARG &
(D) Rrem % WeH ¥ GAEROT B giud
a9 9 saHl
147. FTUER % HISH 3G@HE & a1 GafaRoT
T TE I 3 g8 U @ {6 e

s & Bf 8 @ @ &1 39 @ HA?

(A) 1S @ ad S & foe ag-aml
qfx W srenia gea-se Amil
I qanT BT

(B) WaYUT BN gd §act &l

(©) gl @Y aeR HeH ¥ Wer & foe o
el

|
(D) ol ¥ BN 5 q 3 W R e
ITR™ &
SET-A
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143. Disposable plastic plates which are
thrown away after eating food, should
not be used because -

(A) they are made of materials with
; light weight.
(B) they are made of toxic materials.
(C) they are made of biodegradable
materials.
( they are made of non-biodegradable
materials.

" 144. The most rapidly dwindling natural

resource in the world is -
(A) water
_(By" forests
(C) wind
(D) sunlight

145. The basic objective of educational
excuration in EVS is -

(A) to develop the energy of children

yrst hand experience to the

students

(C) to promote socialisation
(D) to promote team spirit

146. Meaning of environmental education is-
(A) to engage students with
burdensome schedule
—(B)™ aware children about environment
(C) to entertain children
(D) to save environment from
pollution through education

147. After the lunch break, while teaching

EVS, you find that students are not
taking interest in the lesson. What would
You do?

(A)—Use audio-visual aids based on
multiple intelligence to make the
lesson interesting.

Change the topic immediately:
Take the children out to play in
the ground.

Ask them to put their heads down

on the desk and relax.
p.T.0:



198. T30 ¢ 51R. ). & wroa-gawt § gafaRo
g @ e wreifyear sk wE fear
T @-

(A)

(B)

(®)

(D)

ferwa &Y smeRya <eegHTsi o e
& & oo

faa= 3k fowrg & fre Renfal &
AR I FI & ol

dBND T @ WS e
Juete R &b ferel

ftiss v # anarw weat @ wiya
& & ool

149. 3ifaet 3 Pan v F wafavor sraas &

HET H HER T Sifa-ugare a3k
BEYAIRS T Y& 8| 39P GRT 39 TBR

150. wﬁmmaﬁaﬁmaﬁﬁzﬁ-
ma@maﬁmﬁma
ﬁrmmﬁmaﬁmqﬁ%-

(A)

(B)
(©)

(D)

SET-A

E&nésﬁ%ﬁmaﬁésaﬁﬁﬁofq
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148. Higher priority and space has been Qiven
in NCERT textbooks on EVS to -

(A) Explain basic concepts of the
Subject.

/(B). Provide opportunities to learners
for contemplation and wondering,

(C) Provide exact definitions of
technical terms.

(D) Include large number of practice

questions.

149, Aanchal frequently asks probing and
imaginative questions in her Class V of
EVS. By doing S0, she aims at
impl;gving—
jA{ Observation skills
(B) Emotional Skills

AC) Thinking Skills
(D) Speaking Skills

150. A teacher asks every child to use some

waste material from their homes and
make something usefy| out of it.
The pedagogica| intention of the

teacher is not tg -

(A) Judge the pegt student of the
class.

(B) Develop Creativity among children.

(yﬂMake children ynderstand the

concept of recycle, reuse and
reduce.

(D) Organize ap exhibition of best

articles made out of waste.



